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TOPIC 3.1

National Income Statistics

MCQ Section

phs show how consumer

1 7

What was the approximate change in

real income per head?

A a decrease of 2 %
B nil "’

€ an increase of 2 %
D’ an increase of 4 %

At

.'3.. The table shows data on a country’s
gross, domestic product at market

prices and on domestic ‘spending.

[J08/P3/Q17]

1 year | | year2 | year 3
- ($m). | (Sm) [ ($m)
GDP at market price 630 7] 2650 680
private consumption . 480 | 470 .| 480 ;
- |eovernment consumption | 160 |, _l6‘0_ 150
' |gross investment- .20, 30 40

ra
1. The g _
prices and real GDP changed in a
country petween 1995 and 2005.
" * consumer prices
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Which conclusion may be drawn from ;. -

the graphs?

A

o - Feer doaibinin gty it
Living standards remained -

" roughly constant between’'1995

'1995 and 2005.

and 2005. HipTt

Theicountry experienced continu-
ous economic growth between

The level of GDP was lower in
2005 than in 2000.. i
The price level fell between 2000, .

s aﬂd 2003. :'P Yy f

i

Vg

[J08/P3/QI6]

During a year, a country’s national -, .
come in money

f %, prices increased by 4 % and
Otal population increased by'2 %.

o l |

Vet i
VL) IR

]

terms increased by.; . .

A

Iﬁ 'whicﬁ; blf these years will the coun-
try be faced with a:balance!of;trade .

deficit?
ye;'ir 1 | year2 | year3
A| no [~ no [ yest
| B | yes [ yes. | no; !
"C | no yes| | yes |
‘D[ tyes no no 4
| - [J08IP3/018]

4. During a year, a country’s national
income in money terms increased by 6
(1%, prices increased by 4 % and total

population increased by 2 %. ..

What was the approximate change in

real income per head?
a decrease of 2 %
B 'nil

c _ari increase of 2%

D an increase of 4 %

E [NOS/P3/Q14]

HELPS 1o MCQ

1. B Option A cannot
be concluded from the
given information. Options
C and D are incorrect
because the tables show
% changes in both GDP
and price level. Both have
increased during the pe-
riod in absolute values.

2 C Qutof8%
increase in national in-
come 4% is adjusted for
increase in prices and 2%
for increase in population.
The net effect on real
income per head is an
increase of 2%.

3. B GDP
=C+Il+G+(x-m).
When sum of

- C+ 1+ G< GDP,

- X — mis positive (trade

surplus). On the contrary,
when sumof C+/+G
> GDP, x - m is nega-

- tive (trade deficit).

4 B After 'a‘(ijuéting

“'for inflation the increase in
ireal NY is 2%. Increase

in population by same %
would completely offset
increase in real income,
therefore, no change in
real income per head.
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5. The table shows some data for an

economy.
investment| exports g‘\)v:lr,:;"‘:;'rg savipngs | imports | faxation” l‘lalliohal‘
$m $m 2 Sm $m $m $m m;omc
‘ ! m
200 100 50 50 120 100 700
200 100 50 60 140 150 800
200 100 50 75 160 200 900
- -200 100 50 100 180 275 1000
What is the equilibrium level of
national income? '
‘ 8. An economy’s GDP
’ A $700m B $800m y i
C $900m D $1000m
[NOS/P3/Q16]

6. A country’s national income per head
increases. . |
What could explain why this is
accqmpanied by a fall in households’
standard of living?

‘A . an increase in personal taxes
an increase in the trade deficit

B
C an increase in population
D

a rise in the exchange rate
[J09/P3/Q15]

7. The information in the table is taken
from a country’s national income

“accounts.
g $ million

national income 600
consumer spending 4OQ
invcstnient spending 80
government spending on 100
goods and services

taxation : 90
imports i 120

What is the value of exports?

A $100 million
B $120 million
C $140 million
D

$230 mj|lion
[N09/P3/Q15]

over a certain period of time, but its
development when measured by the
Human Development Index remains
unchanged.

What could explain the difference?.

A -longer working hours

B -increased pollution

C an increased crime rate
D

a decline in life expectancy
[NO9/P3/Q25]

A government requires all its young
citizens to undertake community ser-
vice for a period of 6 mopths. The
wages paid to those on the commus
nity service are below what they
would otherwise haye eamed.

What effect will this have o recorded
GDP and on national welfare?

—

effect on GDP | effect an pational welfare |

COw »

reductjon increase

reduction uneertain

unchanged increase

>Toplo 3.1°p
——2_ M

- uneeriain

unqhanged

[iop3/013]

. Betweep 2008 and 2009 2 country’s

national income at current prices In=
creased by 15 %. At the same time the
comntry experjenced 5 % inflation.

Which index pumber most closely rep-
resents the country’s nati

in 2009 at 2008 prices (2008 =100)?
A 103 B 10
c 15 p 120

P31

onal ingome

X
HELRg |, e

51 B Wh

er
of leakages [g =
::irg of injections, Ny
i' 10 Be In eqily :
.8, I+G+x= S+T+M m

6. A Annc
personal taxas Ireeasr:O y
than the increase In lr?
come per head reduce.
disposabie Income, an§
D are incorrect becaygs
both increase consuy.
tion. C s incorrect b.
cause NY per head s
already adjusted fof any
change in population,

SUm
equal 1y

7. C C+l4Gt(em)
= 600 wheregs, ‘
C+1+G-m=480,
hence X must have been
$140 million. Taxation js
not part of the calcuafon

8. D Life expeclancy
is one of the three yaik
‘ahles used for caleylaling
HDI ranking. Working
hours, pollution level a1d
srime ratg arg not o
sidered in the measuré:
ment of developmen! by

-HO:

o, B Lowerwegss
paid wauld reduc Goe
but effect an naford el
farg canot ba measye

10, B Index of GOP &l

2008 prices

Index of GOP
- (m 2009 priceS. 100
=~ Prica IndeX

(@! 2008

_ 11800
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ablc shOWS data on a count.ryvs - 14, A government uses real personal dis- HELPS o MCQ
7 pational product at market prices posable income per head as a measure
r?;son domestic spending. ‘ - of the standard of living.
oY =1 What does this meas i
’ ] leasure not take into x
year || year 2 |year 3 aceount? ;

($m) 7($m) ($m)

//rm‘;’— 420 | 440 | 560 A the distribution of income ?;'
na ‘ . i

GNP 10 asumption 200 | 260 | 300 B the level of national income ;
ivalc € . & ,

p mnwmconsumption 120 | 120 | 140 C the size of the population 1. A GNP - domestic

o 90 | 80 | 130 D the average price level expenditure (C+1+G) =

estment
Tt current account surplus/

£r0sS in |
which of these years will the coun- PI2PIRITT defict,
"\ faced with a deficit on the cur- o :
fry b? faC_e 15. hi g e . Current
rent account of the balance of pay- :Zo ll]c;l:nrc:’pre:sentls ar;l 1nJec?9n into ?an year | account :
hw_ﬂtS? | y’s circular flow of income? surplus/deficit !
= year 2 7year3 A a balance of trade surplus 1 +10
i o v Y - B a government budget surplus 2 -20
A / . C the retained profits of private 3 -10
B X A e companies
X ‘ 2
C v D houschold saving 12. C I.n an open eco
v X X nomy with government
D] Z [JI12/P3/019]  NY equilibrium level is
[J11/P3/Q13] . achieved when
' ‘ S+T+M=1+G+X
12, The table shows some data for an. ; 13. B Life expectancy
economy. o - isoneof the three compo-
. nents of HDI. Number of
r ' | government ! : .| national working hours, levels of
investment | €XpOrts expenditure Savings | Imports | taxation ¢ o ne pollution and the size of
i gl Sm Sm n A | $!'" , population are not consid-
260 100 ; 50 . 125 625 62.5 600 [ : 2red in constructing HDI.
200 100 50 150 75 75 700 yeiit- 14. A Per head income
. .. is an average measure,
-1 19 fO 173 87:3 oy #00 . therefore it does not take
200 00 | 50 200 100 100 900 account of distribution of
' income.

What is the equilibrium level of
natjiopal income? .. 15. A A positive net
exports (X - M) acts as

A $600m B $T00muc i (1 i i oy * injection. Other options
. Tefer to saving -a leakage.

B ‘ .
C $800m D $900m 16. The graphs jpdicate economic perfor-
[N1]/P3/019] mance in a cgyntry between 2007 and
2010.
13, Which change would directly affect a ) .
country's Human Devyelopment Index? ARnual % increase In
A . industrial production
A change in average hours worked 12
by the labour force
B achange in fife expectancy of the 8-
Populatjon y
i b,
C a'change in the level of carbop ’ 4
) dioxide emissjons
a change in the sjze of . |
Jation l22.0F the popy 0

IN]1/R3/Qi6]




A Level Economics (Mmca)

17.

annual % increase
In consumer prices

16+
12- /\/
% g
4
0 T T T" T
07 08 09 10
annual % increase in
s GDP

Which conclusion may be drawn from
the graphs?

A Between 2007 and 2008 industrial

production and GDP fell but A

prices rose. '

B Between 2008 and 2009 the rates "'

of growth of industrial production,
GDP and prices all increased. ,

were at their lowest in 2008.

D At no time did industrial produc-

tion, GDP or prices fall.
[J12/P3/018]

Over.a given period, the nominal value
of a"country’s national income in-
creased by 20% and the rate of infla-
tion was 10%. ' -

What can be deduced from this infor- |

mation? : ‘
A There was an increase in the
volume of output.

B There was a reduction in the
demand for money.

C There was an increase in the
income velocity of circulation,

D The country’s money supply
increased by 10%, ~ ~

Ji
[NI12/P3/Q16]

18. National income statistics show that

19.

'C GDP and industrial production - '

20.

real GDP per head is 25% higher in |

country X than in country Y,
Why might this difference exaggerate

the gap in average living standards
between the two countries?

A Country X has a larger population
than country Y. ‘

B Country X has a higher rate of
inflation than country .

C  The proportion of services péople
provide for themselves is higher
in country Y, ‘

D The proportion of the country’s
industry which is owned by for-
eign firms is higher in country Y,

[13/P3/017]

What might cause the growth :of mea-
sured GNP to overstate the ‘true’ rate

of economic growth in an ecbnomy?.

A People move from unpaid house-
work to paid employment.

B The exchange rate is overvalued
according to purchasing power
parity. '

© C " There is a reduction in environ-

mental pollution.

D Thereis a redu‘ction in the rate of
investment in physical capital.

[NI3/P3/017]

The table shows the annual income
thresholds per person used . by the
World Bank to classify countries ac-
cording to their nominal Gross Na-
tional Income (GNI) in 2000 and 2010.

Temaineq p,

2000 2010

low income
lower middle

upper middle

$7550rless | $1005 or less
$756 to $2995 | $1006 to $3975
$2996 10 $9625/$3976 to $12275
$9266 or more [$12 276 or more

high income.

What could explain the changes re-

,corded in the table?
A lhcome inequality between coun-

tries increased between 2000 and '

2010.

Topic 3.1 5

. D Percen
. lage
nge in aj) threg vgriacbl::;

10 positiyg
Suggests l'ncreasei Thal

absolute Valugs, - Do

27. A MV = PY, in e
Squation Py indicateg the
nominaj valyg of NY. |

PY rises by 20% and p

alone riseg by 10% theny

Must have incregseg by
%.

18. C Services people
provide for themselyag
are not included in GDP,
therefore may understate
standard of living, Ques.
tion statement uses fhe
term real GDP per head
that rules out all other
options.

19. A Qutput, not cou-
nted previously, now be-
comes the part of GNP,

- therefore GNP rises wilh-

out any real increase in
output .

B On average, real GNI in low income " '

', countries increased by roughly
one third between 2000 and 2010.

:
{

 _
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Lev .

rage, world prices _
'12£Z:cdgby roughly..one third
;-:ciwccn 2000 and 2010,

some of the countries in the
D

er . '
:ggo were re-classified as high

¢ countries in 2010. &,
[J14/P3/Q24]

jncom

uril‘l .
2comc in money terms increased by
i

40, total population increased by 2%
and, real income per head remained
constaat.

what was the approximate change in
he average price level?

A a decrease of 4%
B an increase of 4%
C an increase of 6%

D an increase of 10%
[N14/P3/Q20]

Which change would cause an in-
crease in a country’s Human Develop-
ment Index?

A adecrease in gender inequality
B a decrease in income inequality

C an increase in the mean years of
schooling

D an increase in the retirement age

[NI14/P3/025]

The information in the table is taken

from a country’s national income ac-
counts,

$ million
national income 600
consumer spending 400
investment spending 80
govemnment spending on
goods and services 100
€Xports 140

What is the value of imports?
A $100 million
B $120 million
C $140million
D $y4 million
[N15/P3/018]

middle income category in -

g a year, 2 country’s national

24,

25,

26.

. a common currency at market ex-

Topic 3.1 © page 5

Which represents an injection into a

country’s circular flow of income?

A corporate taxes
B, inlerest Payments on government
bonds
C the payment of dividends to

. foreign shareholders

| D the repayment of bank loans

[N15/P3/Q19]

Over one year the money income in an
cconomy  increased by 6%. In the
same period prices rosc by 4%. -

What can be concluded from this?

A Real incomes decreased by 2%.

B The velocity of circulation
decreased by 2%. -

C  The money supply increased by
10%.

D The volume of output increased
by 2%. '
[NI5/P3/020]

Gross Domestic Product -(GD‘P) per
head is an indicator sometimes used
to compare-living standards' of vari-
ous countries. GDP is converted into

change rates.
What might cause this indicator to

exaggerate the relative position of
an individual country?

A 2 high level of female participa-
tion in the labour force

B a high level of foreign ownership
in domestic industry '

C a high level of subsistence. .
farming

D relatively low hours worked by

the labour force \ .
[NI5/P3/023]

- HELPS o MCQ

20. C Nominal GNI is
unadjusted for inflation,
therefore a classification
based on nominal GNI
may be misleading be-
cause it does not factor
in the changes in price
level,

21. C NY=PxY.

~ Since real income per

head remains unchanged
therefore 2% increase in
population must have
been offset by 2% in-
crease in real income (Y).
Thus P must have in-
creased by 6%.

22. C Out of the four
indicators HDI takes only
educational attainment
into account.

2B C+I+G+X-M
=600,and C+1+G+X.

= 720, therefore, M = 120.

24. B By definition, op-
tions A, C & D are with-
drawals from the circular

_flow of income.

25. D Money value of
income =PY, where P is
the average price level
and Y output, so if PY
rises by 6% and P alone
rises by 4% then Y must
have increased by 2%.

26. B Foreign owner-
ship of the country's re-
sources will cause part of
its GDP to be transterred
abroad ' therefore the
country's GDP will no’
indicate the actual lsvel
of income available to
the people of this country.
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27. What would cause estimates of the
money value of the ‘Measure of
Economic Welfare' for a country to
be greater than the value of 'Gross
National Product'? :

A negative externalities such as
pollution '

B property income received
from abroad

0

regrettable necessities

D the value of non-marketed
activities and leisure

[J16/P3/019]

28. In 2012 a United Nations report calcu-
lated the stock of wealth of 20 coun-

. tries in terms of human, natural and
produced resources. This was mea-

sured as the Inclusive Wealth Index

(IWID).

The diagram shows the annual per-

centage (%) change in the IWI
between 1990 and 2008 of the econo-
mies with the fastest and the slowest
growth in IWI. It also shows their 2008
GDP per head ($).

China

29, During a certal period, a country

with ‘a constant population expands
its output pet head. It also experiences
a signiﬁ'cant‘ increase in river and
atmospheric pollution. ‘ .
In the absence of any other changes,
which nieasure would show a de-
crease in living standards?,

A Gross Domestic Product per head '

B Gross National Product per hea'd,

C Human Developmeht Index

D Measure of Economic Welfare
[J17/P3/Q21]

change in inclusive wealth index. 1990-2008'

Kenya

Nigeria
Russia

¢ inclusive

WA natural
7 fix - wealth index

What can be concluded from the

diagram? : :

A A low level of GDP per head
meant an inability to build stocks
of wealth. - '

B No country was able to prevent
depletion of its natural resources.

C The faster the growth in a
country’s IWI the higher was its
GDP.

D There was an increase in human
resources in all four countries.

[J16/P3/020]

.+ 0US non-markey

. and roads, and

Ng.\%
HELpPg ” MCQ

- D Mong
AT
MEW IS h|gher thanue of
because ws agq a N

ance for Ieisure, lor van'

ed
and servicas SUE,?O gs

housework gng u”des
ground activitieg
services of varjg
amenities sych

, for lh;
US pubjie

or priv
durable goods suih a:?

furniture ang awall
ot Jewellary t

2. D A poslive pey.

centage change of growh
in human resources can

. be noted in all fo

countries,

29, D Out of all these
measures only MEW
"takes pollution into ac-
count,
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%\ govel geonortios MCD)_

e how percentage
g below show P
Jo: The‘ E::?I’: money GDP ﬂhd consumer
dr\l‘:lﬂ! in  country between 2008 and
S0i0
" 10
\ ;
§
]
,\ 2008 2009 2010
Q % change In
.\ money GDP
\
\
b
4 ?
!
\ e
| — 1 T
2008 2009 2010
% change in
consumer prices

— s

Which conclusion may be drawn from

the graphs?

r A Between 2009 and 2010 money

| GDP fell but consumer prices

| continued to tise.

B Consutnet prices and money GDP
both continued to rise through-
out the period.

C In real terms GDP grew through-
out the period.

D When consumer prices rose,

money GDP fell.
[J17/P3/Q22]

31, Which could cause the official statis-
tics for the national income per head
of a developing country to overstate
the true level of economic well-being
of its inhabitants?

A !f there is dependence on barter
in internal trade

B if subsistence agriculture domi-
nates total economic activity

if services are an important
component of exports

l.f there is extreme income
Inequality

[J17/P3/Q25]

32, How might real GNP per head be ad-

Justed to make {t a more reliable indi«
cator when comparing standards of
living in different countries?

A adjustments to allow for differ-
ences in population size in differ-
ent countries

B adjustments to allow for differ-
ences in rates of inflation in
different countries

C adjustments to allow for differ-
ences in the relative size of the
hidden economy in different
countries !

D the use of market exchange rates
rather than purchasing power
parity exchange rates

[N17/P3/Q19]

33. To combat a rising crime rate, the
government decides to recruit addi-
tional police officers who are paid a
wage equal to that which they previ-

ously earned in the private sector.

As long as their previous jobs remain
unfilled, what effect will the recruit-
ment of the additional police officers
have on the national income and on

economic welfare?

effect on effect on i
national income | economic welfare

A increase ugchanged

B uncertain decrease

C | unchanged decrease

D unchanged uncertain

[N17/P3/Q21]

34, Growth rates can be calculated using
changes in the value of GDP from year
to year.

Why is real GDP per head

considered to be a better indica-

tor than nominal GDP per head

for this calculation?

A Real GDP adjusts for price
changes by using a base year.

B Real GDP ignores the effects of
fluctuations in exchange rates
on purchasing power.

HELPS «c MCQ

30, B Since growth in
money GDP and prices
remain positive therefore
both of them increased.
This rules out options A
& D. Option C is incor-
rect because growth in
money GDP remained
less than the % change
in prices.

31. D It leads to ma-
jority of people earning
less than what national
income per head sug-
gests. Options A & B
would understate NY per
head while C would have
no impact on it.

32. C Generally Hidden
or black economy is not
accounted for in real GDP
per head. If it can be ad-
justed it will make real
GDP per head a more reli-
able indicator of living
standard. Per head means
population is taken care of
while real means price
level has been adjusted,
therefore A & B are incor-
rect. Option D makes it
less reliable because the
use of purchasing power
parity exchange rate would
make it a more reliable
measure.

33. D Since the level
of earnings remains un-
changed, therefore NY
does not change. The
term Welfare suggests
value judgment, there-
fore it is uncertain.
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- € . Real GDP includes changes in
the size of the population.
D Real GDP measures GDP at
factor cost rather than market '
prices. :

[18/P3/021]

35. The information in the table is taken
from a country’s national income ac-

counts.
income | v S8
| (millions)
wages 8000
salaries : 7000
unemployment benefit | 1000 i
pensions 1000
rent : _ 3000 !
interest » 2000 .
What is the value of national income? &
A 17000 B 19000 ‘
C 20000 -~ D 21000
: [J18/P3/023]

36. Country X’s living standards,were . ' 0 o
~ compared with country Y’s living:,
“standards using real GNP per head
converted into US:dollars. Country
X was ranked above country Y.
Which factor might have caused -~ = it
this ranking to be incorrect? e

* A Actual market exchange rates
were used rather than purchasing
power parity rates.

B Government spending on transfer
payments was higher in country
Y than'in country X.. ' "

C Inflation was higher in country
than in country Y. o

D The distribution of income was
more unequal in country X than
in country Y. SR

[N18/P3/Q22]

current prices; ¢,

is measured at cong

Topic 3.1 o p‘ﬂeg

3. A Nomingj

per head is Measuraq il

U ere
itis less refiablq be, s

it includeg distoryi
Ortioy
caused by Changgg fy
price fevel, Qp the com
trary real Gpp per hean:i

prices and hence it elti:'t
nates those distorfigns i[.
Incomes, it therefora indﬂ
cates changes ip GDp

per head in real tems

35.C Unemploymem
and pensions are not in-
cluded in NY calculatign
because they are consid-
gred transfer paymenis
I.e. payments  receiveq
without any correspond-

“ing output.

36. A Actual exchange
rate does not reflect
purchasing power within
the economy. Real GNP
per head measured in US
dollars, therefore  mis-
represents living stan-
dard.
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Essays)

National Income Statistics

ESSAY Section

LIST OF QUESTIONS

3.1 National Income Statistics

at (J08/P4/06)
b) Discuss whether a fall in the level of na-
tional income is @ good indicator that there

decline in the standard of

has also been a
[15]

living in the country.

a2 (N09/P4/QS5)
(a) In some countries there has been fear of

economic  recession in recent years. Ex-
plain the main characteristics of an eco-

nomic recession. [10]

(b) Discuss the policies that might be used to
brirg an economic recession to an end.

[15] .

03 (N10/P4/Q5)
National income statistics are used to calcu-
late a country's GDP. The table shows the
GDP for five countries for 2008.

Countfy GDP $m
USA | 14580000
India 3319000
Singapore 2;1 000
Mauritius 14 060
Swaziland 5 62(:,

dDi!:cusg. how far the table might be used to
determine whether one country has higher liv-
Ing standards than another. [25]

W @W12/pPaqs)

(b) 25 part of the measurement of GDP gov-
mmen!s calculate the level of investment
expenditure.

:ssess the difficulties of using GDP as
N economic indicator. [*3]

Q5

Q6

Q7

Q8

Q9

(J14/P4/Q5)

It was reported in 2012 that consumers should
not be encouraged to save more and reduce
their debts. Increased saving would result in a
Keynesian ‘paradox of thriftt which would not
help economic growth. Instead consumers

should spend money on new purchases.
(Source: The Times. 2011)

(a) Explain and comment on what is meant by
‘the paradox of thrift'. [12]

(J14/P4/Q7)
(b) Discuss whether GDP is a reliable mea-
sure of the difference in living standards

hetween developing and developed
eqonomies. [13]
(N14/P4/Q7)

(a) How effective is the measurement of eco-
nomic growth as an indicator of how a de-
veloping country’s standard of living com-
pares with other countries? [12]

(N15/P4/Q5)
The government of your country wants to know
how the economy compares with other coun-

tries’ economies.

Discuss which economic indicators it should
obtain and how reliable they might be as a
basis for such a comparison. [25]

(J16/P4/Q6)

Imagine you have been asked to produce a
report about the quality of life in your country.
Discuss what would be important to include in
your report and what economic indicators you

would use in order to reach a conclusion.
[25]
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Q1 Miemanarn
{a) Conventional estimates of national Income

Indicated 1hat average income per head
between 2000 ang 2013 was U

of living in Norway is nearly
three times as high as in New Zealand.

(12]
Q11 (N18paas)

(b) Robots are increasingly used In various
areas of production,

Discuss whether GDP is always a good

measure of living standards, [13] _
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A l"”l E

jon | _————"" e
gues” o a fall in the level of national in-
DiscH®® * od indicator that there has also been a
come ISin the standard of living in the country.
dccllnc [15]

[JO8/P4/Q6 (b))

e

—

a‘ . H . alz e
o figure is the traditional benchmark

1ational income . echt
Nmi?ﬂcrprcting changes 1n standard of living in a
ﬂ:,rumry over time. For this purpose, economists
¢

huve used Real GNP per head.

feal GNP s a monetary measure of economic 4¢=
tivity generated from all national resources both at
home and abroad minus the rate of inflation. R.eal
GNP pet head can be measured by the following

formulae:

__&% = RGNP per head
Total population

RGNP per capita is a measure of how much of real
goods and services is available to the average citi-
zen for consumption and investment. It is widely
held that there should be a strong positive correla-
tion between RGNP per capita and standard of liv-
ing; that is, greater production should move soci-
ety towards "the good life" and vice versa. There-
fore, economists view levels and rates of growth
of "real" per capita GNP, as a useful indicator of
living standard.

The critics, however, believe that the numbers can-
not capture our true overall well-being as a nation.
For instance, in many cases an increase in national
fncome may be the result of longer working hours,
inferior working conditions, longer journeys to
work, payments for services necessitated by the
stress of modern living e.g. anti-depressant drugs,
and higher social costs such as pollution. They
point f)ut that many aspects of quality of life such
f:e;:‘wre,' happiness and health cannot be
€Xper:ldr'id simply in terms of inco_me, output or
s Wilthuar;' Also, there are some {nherent Prob-
relinble ind'e measure.mfent of NY which make it less

Icator of living standard.

ﬁ‘ydrzz;‘;?:?nln :atif)na! income does ‘.ngt necessar-
M reasansa Aecl'me in standard of llylng for vari-
cconomy m; rldse in tht-a prop'ortlon of'black
Ca"ﬁngadecﬁ reduce n‘at'lonal income .w1.thout
- feductionn? in th_e llVl{‘lg stand'ard. Similarly,
ectease | In national income is the.result of
In number of hours worked in accor-

e

dance with the preferences of workers then people
would have less to consume but more leisure time
may increase their level of happiness. Furthermore,
if national income falls due to a reduction in de-
fence related expenditure as nation may particularly
feel more secure from any foreign aggression then
quality of life would improve. Failure to account
quality improvement is another serious shortcom-
ing of national income.

Economists point out that many qualitative
changes could make a country better off without
necessarily achieving higher RGNP per head, such
as reduction of crime and violence, greater equal-
ity of opportunity, improved racial harmony, and
reduction of drug and alcohol abuse. Similarly, ris-
iig RGNP per head is usually accompanied by ris-
ing extetnal cost, such as pollution, noise and ac-
cidents. These are not officially measured within
national income but they do affect welfare and dis-
tort comparison of well-being of a nation over time.

Thus, we must understand that GNP is not a com-
plete measure of economic welfare; nor is it meant
to be. It is a measure of output or income, and
should be seen in that context.

We can use a range of alternative indicators to
assess changes in living standard of a country.

The most well-known measure of quality of life is
The Human Development Index (HDI) that has
been-developed under the United Nations Devel-
opment Programme.

The Human Development Index (HDI) is the aver-
age of three indicators

« Standard of living, as measured by real GNP
per capita (PPP$)

+ Life expectancy at birth, in years

o Educational attainment, as measured by a
weighted average of adult literacy (two-thirds
weight) and enrolment ratio (one-third weight)

The closer the HDI is to 1, the closer the country
is to achieving the maximum values defined for

each of the three indicators.

The advantage of using HDI is that it highlights
the fact that people's welfare is influenced not only
by the goods and services available to them but
also by their ability to lead a long and healthy life
and to acquire knowledge, a combination of both
qualitative and quantitative factors.

As mentioned above income is an integral compo-
nent of quality of life but not the only factor, we
also need to consider the data on some important
economic variables which determine the over all

outlook of an economy.

i I A VTR L S
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Question 2

(@) In some countries there has been fear of econornic
recession in recent years. Explain the main charac-

teristics of an economic recession. [10] -
(®) Discuss the policies that might be used to bring an
economic recession to an end. [15]
[NOY/P4/Q5]
Essay

(@ Nations seek economic growth, full employment,
_price stability and favourable trade balance as their
major macroeconomic goals. But the long run eco-
nomic growth has not always been steady; it is fre-
quently interrupted by periods of economic insta-
bility. On various times growth has given way to
recession and depression, that is, to declines in
employment and real output. These fluctuations in

economic activities are associated with business
cycles.

Recurrent ups and downs over a period of years in
the level of economic activity are attributed to busi-
ness cycles as shown in the figure below,

A b Potential
GDP
Peak ‘

%

Recession Recovery

Real GDP

Slump

boom

A .
-

Time :
Real GDP méasures the total production of goods
and services for the whole economy over a year
.and is an indicator of the level of economic activi-

ties. Real growth is measured by the annual rate of
change of real GDP.

Although the phases of business fluctuations :{re
described by a series of commonly used terms, no
two cycles are the same. Starting from a lower turn-
ing point, a cycle goes through a phase of recov-
ery (expansion), reaches an upper turning point,
and then-enters a period of recession. Cycles differ
from one another in the severity of their troughs
and peaks, and in the speed with which one phase
follows another. Sometimes the entire rising half of
the cycle is loosely referred to as a boom and the
entire falling half is called a slump.,

Common usage defines a recession as a fall in real
GDP for two quarters in succession, This down-
turn is marked by the widespread contraction of

®)

‘Confidence is low t

inflexible, the price level is like] OWwargy,

business in many Sectors of the ¢
falls off, and, as a result

ment also fall, As emplo
incomes. Profits drop,
financial difficulties,

COnOmy_
’ Pmduction ang Il
yment falls do *Mploy,
and some fir
Business proq
herefore inves

capital goggs ind ¢
. Ust
ou finding thej, stocks o;y ay
rising, cut back on Production, Where o Boogg
duction are very large thep agEregate de n: n pr,.
tually falls and there is a mul; and ge.

income. But because many prices gre 4 Natiopy

¢
OUn
Pects o Po:)er
tmeng p, "
low. The effects on

thus be severe. Firms,

Y to fal| only
nged. In b

deep and |

if the
Storicy|
Ong las.

recession is severe and' prolo
discussion, a recession that is
ing is often called depression.

Lower economic activities ar
decline in both the governme
level of imports. Hence, the
government is likely to rise b
expected to improve becaus
result in declining imports,

€ €Xpected tq result i
nt tax revenye and the

budget deficjt of the
ut the trade balance jg
e decreasing incomeg

It is possible for the government
cyclical fluctuations. However, governments may
not be as efficient as desired. In dealing with an
inflationary or recessionary situation, there are fag.
tors that undermine government measure. There are
also time lags. 1 shall deal with the problem of a
downturn (recession) in the economy

The essence of the Keynesian model is that a
country will come out of a recession with sufficient
injections of demand into the economy. An injec-
tion of money through multiplier effect leads toa
multiple increase in national income. Prices will ris¢
and employment will be increasing in order to meet
the rising demand. Eventually the country comes
out of recession.

The government can maintain a high level of ag
gregate demand through expansionary fiscal policy,
and monetary policy or else government can Us¢
some direct controls. il
An expansionary or inflationary ﬁsca! policy gor
involve raising government expendlturefa;lither
lowering taxes this will have the effect Ohe bud-
increasing the budget deficit or reducing t|teﬂst ¢
get surplus. It is where the government a(G) and
balance between government eXPe“d‘turebetween
taxation (1), and thereby alters the.balancit’; o
injections and withdrawals. In -thns waycession’ it
aggregate demand. Faced with a re words;!
should raise G and/or lower T. In otheiz cather the"
government should run a budget def;l)c 2 multiplie
a balanced budget. There will then le "

effect as shown by the sequence below:

S to deal with the

T
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the governmcnt may

. '
otV casures
of fiscal 11 ’ disposable

uce the fall in

measures at least help to

further.
diture si
all public projects 2

ment may even embar_k ox}
urpose of providing JO

gregate demand strong.

On the monetary side, variou i
ualitative tools can be used in order to Increase

the money supply and lower interest rate. This will
poost consumer expenditure and business invest-

ments The central bank can lower its lending rate,
t securities and relax regulations

buy up govemmen :
on reserve ratios and special deposits. All controls
on mortgage, deferred payments and hire pur-

chases can be relaxed in order to stimulate demand.
of direct controls compulsory savings con-
tributions by employees and employers can be re-
duced, the government can allow a lower age for
compulsory pension funds withdrawals. The con-
sumption of certain goods and services can be
made compulsory. Examples are estate, cars and
machinery maintenance must be done regularly.

However getting out of a recession may not be that
simple. A recession prevails because of negative
expectations. Consumers and producers believe
that the situation in near future can get even
worse. Demand, therefore falls further, leading to
more stocks accumulation and more retrenchment.
Thus.they would save even more to last out the
bad times. The increase in money supply brought
about by the government's expansionary policy is
therefore, simply leaked away. ’
Lea!cages may also come in the form of imports and
f::);lt:[l)o:lt]ﬂcl))ws. The former is unlikely but the lat-
S . 6 .
st cguntri ;c::;:r:,h:c:;ﬁz :lci:zks their for?une in
s are booming.

poth thes®
B s de, the government maintains
nd obligations. The govern-
new public projects for

bs in order to keep ag-

ious quantitative and

In case

::eogrgi: to bring its economy out of a recession,
ditiees :m;m has to convince people that con-
Eoipeion ?I‘h avourable for investment and con-
leakagos 'Th'e government would have to cap all
lc thoy t}:ne ! ;s can be.z do.ne'by reassuring the pub-
Romic indi °t“°m)’ is picking up. Publishing eco-
fi= Ofrisina grs would convince the business
ave to b g demand. The government may also
an the outflow of capital.
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Another problem ig that productior may riot be
able to expand, if the infrastructure of the economy
are still labour manage-

has deteriorated of if there
nment would have to re-

ment problems. The gover . ' .
move all such ibottle-necks' by intervening directly

into the markets.

Perhaps the more seri
ernment is financing a

ernment going to spe

ous problem facing the gov-
budget deficit. How is a gov-
nd more than it collects? It
‘will have to borrow, which would be difficult
domestically (Incomes have already fallen). If it
borrows externally, it has been argued' that, the re-
cession has been postponed to a later date. This is
because the government will have to pay back
even more in the future. The increases in taxes and
reduction in expenditure in the future may bring

back the recession.

Thus the government
ferent quantitative an
der to pull the economy

has to adopt a variety of dif-
d qualitative measures in or-
out of recession.

Question 3 . ' 7
statistics are used to calculate a

National income
P for five coun-

country’s GDP. The table shows the GD

tries for 2008.
_Country GDP $m
UsA | 14580 000
India 3319000
Singapore 244 000
Mauritius ; 14 060
Swaziland = 5626

Discuss how far the table might be used to determine

- whether one country has higher living standards than

another. 23]
| [NI0/P4/Q5]

Essay

The standard of living is a measure of the material wel-
fare of the inhabitants of a country. The baseline mea-
sure of the standard of living is real GDP. This is the
value of total output produced from all the resources
located within the political borders of a counfry over
one year time period. Real GDP figures can be used to
make cross-country comparisons. But this requires
converting GDP data into a common currency (normall

the dollar or the Euro) which has been given. But wz:l
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To

ent to reflect differences

need to make an adjustm ‘
i s and services in each

in the average cost of good
::‘:n::try to pgroduce data expressed at ‘Purchastl‘gﬁ
power parity’ standard and thercforc‘ need |.nforma i )
on cost of living in all five countries which has no
been provided. -
Apart from this it must be remembcred‘that.Gl?P on its
own is both an inaccurate and insufficient indicator of
true living standards both within and between c.:out.1-
tries. Thus the information provided in the question 1s

of limited value for comparing living standard. The GDP -

figures would have been more useful if the figures of
population of each of the countries were given because
all countries have different sizes of population. For ex-
ample, India’s GDP needed to be divided by a popula-
tion of approximately 1.2 billion to arrive at a GDP per
capita or per head figure whereas the GDP of Mauritius
only needed to be divided by a population of approxi-
mately 1.2 million. The result in terms of GDP per head
can be different from that of GDP figure alone.

Therefore higher GDP does not necessarily imply that
the citizens of the country enjoy higher living standard.
Real GDP per head is calculated by dividing GDP on
the population of the country. It is a measure of how
much of real goods and services is available to the
average citizen for consumption and investment. It is
believed that there should be a strong positive correla-
tion between RGDP per capita and economic well be-
ing; thai is, greater production should move society
toward” the good life” Therefore economists view lev-
els and rates of growth of “real” per capita GDP, ex-
pressed in common currency, as a better indicator of
comparing economic well being internationally than
GDP figures alone.

However it is widely held that RGDP per head is also
of limited value for inter-country comparison of living
standard. Firstly, income distributions between the
countries may be different also national income ac-
counts will have varying degrees of inaccuracy,
caused, for instance, by different sizes of the informal
economy in each country. The informal or black
economy includes economic activity that goes unre-
corded. The non-monetised sectors of the economy
include output that is not sold at market prices but i
volves barter trade, and self-consumed products.
Economist’s latest estimates for the total value of the
black economy throughout the world are $9 trillion,
The scale of the underground economy is estimated to
average 15% of national output for rich economies and
33% of national output for emerging economies, Na-
tional income accounting conventions may also be dif-

ferent in different countries making it impossible to
compare the two,

z Ple 31 Y
There is also the problem of what fat Dlg‘ !L
use when comparing one country’g Gf):f ex°han ;

The day-to-day market exchange rate ¢ With |
lation to relative prices in differep, e a b
in some countries, like Switzer|gng e Fies, ¢
can be much higher at officja| exc
France or ltaly, Therefore if nation
are to be used to compare liyip
countries it is important to use ap eXchap ol
compares the cost of living in eacp, i tge rate%?fn

change rates are known as purchasing try, es@;ﬁ |
For instance, if a typical basket of gl;ower pa’ilig{ |
francs in France and £1 in the UK, thep na?'ds Cog }
should be converted at an exchapge By lo:al in%me .
to the £1 - even if the market exchange ‘fateo 10

different figure. B'Vesaycry

Even this is not accurate enough, In some ¢ [
consumers have to purchase goods Which iy Ooﬁlmffgs’
free. For instance, Sweden spends 3 8reater'prg Uiy
of its national income than Italy on fyq| for Eonlmn
because of its colder climate. But this extra °"Penza-lg
does not give the Swedes a higher standarg 0f|-‘lfu
Again, countries are different geographicyly an:j in
country might have higher transport ¢ogts per umfn
output than another because of congestion or havi:f |
to transport goods long distances. In Practice, i is,

most impossible to adjust national income figures fy

these sorts of differences. ‘

h My,
ange Ta!es Il»:nank §

al |nc° an, 3

me .. '
g Standy, s btatlgg['q

It is believed that the numbers cannot capture our fe i
overall well-being as a nation in comparison with ol |
countries. Econcmists point out that many qualitaive
changes could make a country better off than ot

countries without necessarily achieving higher RGly

per head, such as reduction of crime and violens, |
greater equality of opportunity, improved racial h: ‘
mony, and reduction of drug and alcohol abuse. Sini |
larly, rising RGDP per head is usually accompanied b.y i
rising external cost, such as pollution, noise and a

 dents. These are not officially measured within nationd

income but they do affect welfare and distort comp J
son of well-being between nations. ‘

Measure of economic welfare (MEW) is one oftei
ternative measures developed to overcome these pre® |
lems. This starts with GNP and NNP. To this wisé 1
an allowance for leisure, for various “°“'markeer.
goods and services such as housework ) . Lszblic
ground activities, for the services of Va‘rlou-saﬁe k
amenities such as parks and roads, and for privs

rable goods such as furniture and jeweller: piract |
On the other hand, various items Were ::diture"";

These included regrettables’ such as ¢XP U i
defense and commuting to work, and Ya"itemssmh
such as pollution. Also various intermediat®

as the benefits of education were subtrad®

y



conomics (Essays)

‘Topic 31 © page 7

loin With using MEW is in obtaining reli-

1ebi8 p.[@ba ofall the additional items it includes, As
able estlmf:ms qot been adopted by governmental sta-
”?iunagcnciei am“nd the World.

istieal 26° [-known measuro of quality of life is The
The mos wlopmcm Index (HDI) that has been devel-
. danulz‘;v; the United Nations Development
op¢

p
me-:
ng:ul:nan Development Index (HDI) is the average of
X PIY

(hree inioators:
.._."standard of liVing, as mcasurqd b)’ rea\ GNP Per

capita (PP PS)

Lifo expectancy at birth, in years

. Educational attainment, as measwred by a weighted
average of adult literacy (two-thirds weight) and
enrolment ratio (one-third weight)

' HDI Is to 1, the closer the country is to

imum values defined for each of the

¢

The closer the
achieving the max
three indicators,
The advantage of using HDI is that it highlights the
fact that people’s welfare is influenced not only by the
oods and services available but also by their ability
lo lead & long and healthy life and ta acquire knowl-
edge, & combination of both qualitative and quantita-
five factors. Clearly, this index gives us a better way of
estimating standards of living than just GDP taken on
lts own, However, it is still far from perfect. Economists
have recently been looking at ways to include other
factors in the measurement, such as income distribu-
tlon, gender inequalities, and inequalities by region or
by ethnic group. As a result they have developed The
Human Poverty Index (HPI) that focuses on four basic
dimensions of human life - longevity, knowledge, eco-
nomic provisioning and social inclusion.

Thus it follows from the discussion above that GDP is
an integral part of any measure comparing quality of
life between nations but on its own it proves to be in-
sufficient, A fair comparison of living standard must
consider the data on other important quantitative and
qualitative factors,

Question 4

‘:lpart of the measurement of GDP governments
Culate the leve] of investment expenditure.

eAcssess the difficulties of using GDP as an
onomic indicator. [13]

——— [J12/P4/Q5(b)]

Essay

In order to assess how well an economy has per-
fonped in comparison to other countries or over a
period of time, we must have a means of measuring
the value of the nation’s output. The measure that
economists widely use for this purpose is called
GDP. We define GDP as the monetary value of to-

tal output produced within the country over a
twelve month period.

GDP is used to compare performance of an
economy compared to other countries. Also GDP
Is used to calculate the rate of economic growth,
Most common usage of GDP is to determine living
standard between countries and over time. For
governments GDP figures provide the basis to for-
mulate their economic policies.

If we are to make sensible use of GDP figures, we
must take inflation and size of population into ac-
count. Increasing price level, for instance, may in-
crease the GDP figure more than the increase in
output while ignoring the changes in the size of
population could make an unreal comparison of liv-

* ing standard over a period of time or between

countries.

However, even after making these adjustments
economists question the reliability of GDP as an
economic indicator for various reasons.

Firstly, national GDP figures hide significant re-
gional variations in output, employment and in-
comes per head of population. Within each region
there are also areas of relative prosperity contrast-
ing with unemployment black-spots and deep-
rooted social and economic deprivation. Also, GDP
figures on their own do not show the distribution
of income and the uneven spread of financial
wealth. Incomes and earnings may be very un-
equally distributed among the population and ris-
ing national prosperity can still be accompanied by
rising relative poverty.

Furthermore, rising national output might have
been accompanied by an increase in pollution and
other negative externalities which have a negative
effect on economic welfare. Output figures also tell
us little about the quality of goods and services
produced. Also rising national output might have
been achieved at the expense of leisure time if
workers are working longer hours

Moreover, we need to analyse the balance between
consumption and investment. If an economy de-
votes too many resources to satisfying the short
run needs & wants of consumers, there may be
insufficient resources for investment needed for
long term economic development. Faster economic
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growth might improve living standards tOfIay but
lead to an over-exploitation of scarce finite cco-

nomic resources thereby limiting future growth
prospeets,

GDP figures might understate the true living stan-
dards becausc of the existence and growth of black
or informal economy. Black economy includes ille-
gal and undeclared transactions while informal sec-
tor is the non-monetised part of the economy, It
includes output that is not sold at market prices
but involves barter trade, and self-consumed prod-
ucts. The Economist’s latest estimate for the total
value of the black economy throughout the world
is $9 trillion. The scale of the underground
economy is estimated to average 15% of national
output for rich economies and 33% of national
output for emerging economies. According to their
survey, Nigeria and Thailand have the world’s larg-

est black economies, both accounting for more than
70% of official GDP.

Lastly, GDp figures are calculated from millions of
different returns to the government. Inevitably mis-
takes are made- returns are inaccurate or simply not
completed. Therefore the fi gures are not exact and

accurate and do not provide a precise and accu-
rate account of economic activities.

Compared to GDP figures the composite measures
of economic development namely Human Develop-

ment Index and the Human Poverty Index may pro-

vide a better assessment. Both are simple compos-
ite measures of the extent to which living standards
vary across countries,

HDI is an alternative measure of a country’s eco-
nomic standard of living that has been developed

under the United Nations Development

Programme. HDI is the average of three indicators

Standard of living, as measured by real GNP
per capita (PPPS$) '
Life expectancy at birth, in years

Educational attainment, as measured by a
weighted average of adult literacy (two-thirds
weight) and enrolment ratio (one-third weight)
The closer the HDI is to 1, the closer the country

is to achieving the maximum values defined for
each of the three indicators.

The Human Poverty Index (HPI) measures the pro-
portion of people not expected to meet specified

target levels for given economic and quality of life
indicators:

HPI data seeks to provide a “multidimensional

measure of poverty”. It focuses on four basic di-

mensions of human life — longevity, knowledge,
economic provisioning and social inclusion,

. Tople 3 1
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ure alone is insufficie WS th
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Question 5

It was reported in 2012 that CONsume

be encouraged to save m
debts. Increased savin
Keynesidrn ‘paradox of thrify
economic growth. Inste

ad consypme,
spend money on new pu

rchaseg, sh“ﬂld

(Source; ;
: The Timeg, 20”)
Explain and comment oy

What jg
paradox of thrift’, T

Mt by 4,

(i
[J’4/P4/Q5(a) !
Essay

In times of uncertainty in an economy it jg
. for individuals to become thrifty, It i 4 °
case at macro level that ap increase jn
all individuals may actuall

y lead to afal
rium level of national incom

reduction in savings. Followj

erefore (h,
savingg by

e and therefore tog

) Ng graph can
to illustrate the paradox of thrift. o
A '
W=g,
LW /T/ 2 HTHM
1 W=8 +T+ M
_ LT
/:/:\ T=1+Gex
o T
L —_—
Y, Y, income

The graph relates to a four sector economy. The
economy is initially in equilibrium at'Y, where witk
drawals equal injections. Ifal| individual then seck

to increase their saving, the withdrawals function ‘1

in equifp,

will shift from W to W . The increased thrifinss |
on the part of individuals will cause planned wit |

drawals to exceed planned injections by AB at the
initial equilibrium level of national income Y . Als,
if €veryone saves more as a consequence they spend
less. Increased saving and low spending affecs
businesses. Less spending means less demand for
goods and services and therefore lost orders for
firms. Firms will cut back production and lay o
workers, So the income of household will fefll. “
We know from the multiplier that the resulting
in national income will be greater than the fall i

e



Topic 3.1 © page 9

) Economics (Essays)
¢ s

Jing because this means reduced injections

conomy as people spend less. As na-
falls planned savings will also de-
1 continue to fall until withdrawals
1010 equal planned injections and this occurs
once | income Yo Saving now will fall back to
at nation? Lus an attempt to save more will

.y |
. sial level. Thus 3 . L
the 1IN fall in national income and a fall

esultina

ctually restz ="~

?n saving t0 the same level. .. o

:rl s extra SaVing and less consumption would
us ©

ake matters WOTse by lowering income and
f)nly m'n unemployment. In fact if rising savings
mcrei:i' ngfset by increase in injections then na-
fi:)en:l income is likely t.o iiecrease by a higher pro-
portion due to the multiplier effect.
saving, for instance, could mean more
able to lend which might result in a fall
in interest rate. Lower interest rate may allow in-
vestment t0 rise and hence l"Jecum.]S t(.’ increase
hus offsetting the impact of redl.lctlon'm saving.
The following graph illustrates this;
W=S,+T+M

A
JW/f//J:=I+G+X
’ wW=§,+T+M
_ — /J,=I+G+X
___’37/
0 . :
e Y, Y,

Speﬂ
into the ¢

jonal income &
cline. [ncome Wi

A rise in
funds avail

Yo

income

Arise in injections from J, to J, completely off sets
the impact of rising saving and maintains equilib-
rium at Y, and the economy successfully escapes
the paradox. Similarly a fall in demand resulting
from a rise in saving may be compensated by a rise
in exports or government may plan to increase its
S{J?ding with the view to avoid a deficiency in AD
ay,
Therefore it follows that a paradox may develop
w:e;} peaple become thrifty however there is a
g a:t?:ltl)ll)lrl(t)};- ‘t:l;;: tlhe level of injections rise§ aqd
pletely offsets the effects of rise in

Saving,
Q"dtion 6
\ wh .
iffergncg iﬁt?'er- GDP is a reliable measure of the
d eygy 'Ving standards between developi
o7l camome velaping
- - 13
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insufficient resources for inves

Essay

In order to asscss the level of development, we
mu§t have a means of measuring the value of the
l‘lZ?thﬂ’S output. The measure that economists
widely use for this purpose is called GDP. We de-
fine GDP as the monetary value of total output
produced within the country over a twelve month
period.

GDP is used to compare performance of an

. €tonomy compared to other countries. Also GDP

is used to calculate the rate of.economic growth.
Most common usage of GDP is to determine the
levels of development of different economies.
However, if we are to make sensible use of GDP
f?gures, we must take inflation and size of popula-
tion into account. Increasing price level, for in-
stance, may increase the GDP figure more than the
increase in output. While ignoring the changes in
the size of population could give a wrong indica-
tion about the level of development.

However, even after making these adjustments
economists question the reliability of GDP as an
economic indicator of developmeht for various
reasons.

Firstly, national GDP figures hide significant re-
gional variations in output, employment and in-
comes per head of population. Within each region
there are also areas of relative prosperity contrast-
ing with unemployment black-spots and deep-
rooted social and economic deprivation. Also, GDP
figures on their own do not show the distribution
of income and the uneven spread of financial
wealth. Incomes and earnings may be highly un-
equally distributed among the population and ris-
ing national prosperity can still be accompanied by
rising relative poverty.

Furthermore, higher GDP might have been accom-
panied by an increase in pollution and other nega-
tive externalities which have a negative effect on
economic welfare. Output figures also tell us little
about the quality of goods and services produced.
Also, rising national output might have been
achieved at the expense of leisure time if workers

are working longer hours. - _
Moreover, we need to analyse the balance between
consumption and investment. If an economy de-
votes too many resources to satisfying the short

un needs & wants of consumers, there may be
tment-needed for

mic development. Faster economic
living standards today but
n of scarce finite eco-
iting future growth

r

long term econo
growth might improve
lead to an over-exploitatio
nomic resources thereby lim

prospects.
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GDP figures might understate the level of develop-
ment because of the existence and gro_wlh of b!ack
or informal economy. Black economy includes ﬂle-
gal and undeclared transactions while informal sec-
tor is the non-monetised part of the economy, it
includes output that is nIO} soljd_ ij markqt Ppce_g
but'involves barter trade, and SCIfTQQ“S.“'T‘,FCI, T",ﬂ‘,
ucts. The Economist’s laté‘st‘c'slihaté' fgr the’ total
valiic of the black economy throughout the v\vgrjd

is $9 trillion. The scale of the 'llnrdérgrgl.l!!l!q

L conomy is cstimated to a'vérﬂgé 15% R e
output for ricl CCQnomié_&; and 33% of national
out’pg; for emerging ecconomies. According to their
survey, Nigeria and Thailand have the world’s larg-
est black economies, both accounting for more than
70% of official GDP,

Lastly, GDP figures are calculated from milljons of
different returns to the government. Inevitably mis-
takes are made- returns are inaccurate or simply not
completed. Therefore the figures are not exact and
accurate and do not provide a precise and accu-
rate account of economic activities.

It is believed that the numbers cannot capture our
true overall well-being of a nation. Economists
point out that many qualitative changes could
make a country better off without necessarily
achieving higher GDP, such as reduction of crime
and violence, greater equality of opportunity, im-
proved racial harmony, and reduction of drug and
alcohol abuse. '

Compared to GDP figures the Measure of eco-
nomic welfare (MEW) reflects the state of deve|-
opment more accurately. MEW is one of the alter-
native measyres developed to avercome the prob-
lems of using GPP as an indicator of development.
This starts with GNP and NNP, To this was added
an allewance for leisure, for various non-parketed
gggds and serviges such as housework and under-
ground activities, for the seryices of various pub-
lig amenities such as parks and rgads, and for pri-
vate durable goods such as furpjture and jewellary.

On the other hand, various items were subtracted,
These in¢iuded regrettables’ such as expenditure
on defence and commuting to work, and various
‘bads’ such as pollution, Also various intermediate
jitems such as the benefits of education were sub-
tracted, The big problem with using MEW is in
obtaining reliable estimates of all the additional
items it includes. As a result it has not been
adopted by governmental statistical agencies
around the world.

By far human development index (HDI) is consid-
cred the best indicator of a country’s economic
standard of living, HDI is the average of three indi-

cators

*  Standard of living, a5 measureq
percapila (PRBS) T P g
Life expectancy at birth, in yeqs
*  Educational attainment, a5 .
weighted average of adyit lerge, o4
welgnt) and enrolmeny ratio‘(opélgh%gi’;“liﬂs
'ﬂle ?19:‘?3{ the HBlistg , e closer i
is Lo achieving the maximum valyeg
each of the three indicators.
Thus it can be concluded that GDp is not il
measure of differences of living standarg b:t"lﬂhlc
develop;d and develaping couptries. Insteag OVt:cn
composite measures such as MEW o HD)| her
more reliabie. e

~e

‘he Coumry
deﬁned for

Question 7

How effective is the measurement of economie
growth as an irdicafor of how a developiny
country’s standard of living compares with o

countries? [m
(NPT
Essay

The standard of ljving is a measure of the materlal
welfare of the jnhabitants of a country, The
baseline measure of the standard of living is real
GDP. This is the value of total output produced
from all the resources located within the political
borders of a country over one year time perld.
Growth in real GDP figures can be used to make
eross=cauntry comparisons, But this requires can
verting GDP data into a comman currency, Besldes
this we need to make an adjustment to reflect dif
ferences in the average cost of goods and services
in each country to produce data expressed al &
¢ ' ity? standard and therefor?
purchasing power parity’ s i
need information on cost of living in coun o
However, even after making these adJ“;‘?;mI
economists question the reliability ?fgrowld ol
GDP as a means of comparing living slande

a developing country with other countries.

GDP
In the first place it must be remembered tg?;iciem
on its own is both an inaccurate and ms&.thin n
indicator of true living standar.ds both ‘\:th ined
between countries. Therefore higher 87

e enso

"o e hat the cltiz
GDP does not necessarily imply t i ing stan g{a.
e

a developing country enjoy highe‘: size of poP

Also, ignoring the changes in th
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ve a wrong indication about the level
ent, To counter this economists use
head to compare living gandard be-
countries, Real GDP per head ls.calculated
weel “4ing real GDP on the population of the
divi []t i a measure of how much of real goods
country: i ccs js available to the average citizen for
and Sc:”tio" and investment. It is believed that
consulshi;uld be a strong positive correlation be-
therﬁn growth in RGDP per capita and economic
twi?bﬁi“g; that is, greater production should move
;?ciety toward” the good life” Therefore econo-
mists view levels and ra-tes of growth of “real” per
capita GDP, expressed in common currency, as a
hetter indicator of comparing economic well being
interhationally than GDP figures alone. However it
is widely held that even RGDP per head is of lim-
i,ﬁed value for inter- country comparison of living
standard. Firstly, income distributions between the
countries may be different also national income
accounts will have varying degrees of inaccuracy,
caused, for instance, by different sizes of the infor-
mal economy in each country. The informal or
black economy includes economic activity that
goes uprecorded. The non-monetised sectors of
the economy include output that is not sold at
market prices but involves barter trade, and self-
copsumed products. Economist’s latest estimates
for the total value of the black economy through-
out the world are $9 trillion. The scale of the un-
derground economy is estimated to average 15%
of national output for rich economies and 33% of
national output for emerging economies. National
income accounting conventions may also be differ-
ent In different countries making it impossible to
compare the two,

There s also the problem of what rate of exchange
to use when comparing one country’s GDP with
another, The day to day market exchange rate can
bear little relation to relative prices in different
countries, So prices jn some countries, like Switzer-
lé}nd or West Germany, can be much higher at offi-
cial exchange rates than in India or China. There-
fore if national income statistics are to be used to
ompare living standards between countries it is
Important to use an exchange rate which compares
the cost of living in each country, These exchange
fates are known as purchasing power parities, For
;“Stan‘ce, ifa typical basket of goods costs 10 Yuan
sfl‘] China and £1 in the UK, then national income

ould be converted at an exchange rate of 10 Yuan

0 the £1 - even if the market exchange rate gives a
very different f gure,

A L€

. dcveIOP"‘

Even this is not accurate enough. In some coun-
tries, consumers have to purchase goods which in
others are frce, For instance, Sweden spends a
greater proportion of its national jncome than In-
dia on fuel for heating because of its colder climate.
But this extra expenditure does not give the
Swedes a higher standard of living. Again, coun-
tries are different geographically and one cquntry
might have higher transport costs per unit of out-
put than another because of congestion or having
to transport goods long distances. In practice, it is
almost impossible to adjust national income figures
for these sorts of differences. |

It is believed that the numbers cannot capture our

. true overall well-being as a nation in comparison
with other countries. Economists point out that
many qualitative changes such as reduction of
crime and violence, greater equality of opportunity,
improved racial harmony, and redyction of drug
and alcohol abuse could make a country better off
than other countries without necessarily achieving
higher growth in RGDP per head. At the same time,
rising RGDP per head is usually accompanijed by

' rising external cost, such as pollution, noise gr;d

“accidents. These are not officially measured within
national income but they do undermine the welfare
and therefore distort comparison of living standard
between nations. ‘

Questjon 8

e

The ggvernment of your country wants to know how
the economy compares with other couptries’ economies.

Discuss which ecogpomic indicators it should obtain
and how reliable they might be as a basis for such a
comparison. [25]

[N15/P4/Q5]

e

Esspy

A cross-country-comparison of standard of living
would help the government of a country to judge how
the economy is compared with other countries® econo-
mies, Standard of living is a measure of the material
welfare of the inhabitants of a country. The baseline
measure of the standard of living is real GDP. This is
the value of total output produced from all the re-
sources located within the political borders of a coun-
try over one year time period adjusted for any changes
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in the price level, A cross-country compnr'ison, how-
ever, requires converting the real GDP data into a com-
mon currency normally the dollar or the Euro.
Despite making these adjustments it must be remem-
bered that real GDP on its own is both an inaccurate
and insufficient indicator of true living standards both
within and between countries. The GDP figures would
become more useful if the figures of population of each
of the countries is taken into account because all coun-
tries have different sizes of population. India’s GDP, for
example, needed to be divided on a population of ap-
proximately 1.25 billion to arrive at their GDP per head
figure. On the other hand the GDP of Mauritius only
needed to be divided on a population of approximately
1.2 million. The result in terms of GDP per head can be
different from those of flat GDP figure,
As real GDP per head is calculated by dividing GDP on
the population of the country therefore it is a measure
of how much of real goods and services is available to
the average citizen for consumption and investment. It
is believed that there should be a strong positive cor-
relation between RGDP per capita and economic well
being; that is, greater production should move society
toward” the good life” Therefore economists view lev-
els and rates of growth of “real” per capita GDP, ex-
pressed in common currency, as a better indicator of
comparing economic well being internationally than
GDP figures alone.

Economists, however argue that hi gher GDP per head
does not necessarily imply that the citizens of a coun-
try enjoy higher living standard. It is widely held that
RGDP per head is also of limited value for inter- coun-
try comparison of living standard for a number of rea-
sons.

Firstly, income distributions between the countries
may be different also national income accounts will
have varying degrees of inaccuracy, caused, for in-
stance, by different sizes of the informal economy in
each country. The informal or black economy includes
economic activity that goes unrecorded. The non-
monetised sectors of the economy include output that
is not sold at market prices but involves barter trade,
and self-consumed products. Economist’s latest
estimates for the total value of the black economy
throughout the world are $9 trillion. The scale of the
underground economy is estimated to average 15% of
national output for rich economies and 33% of national
output for emerging economies. National income ac-
counting conventions may also be different in differ-
ent countries making it impossible to compare the two.

There is also the problem of what rate of exchange to
use when comparing one country’s GDP with another.
Th‘e day to day market exchange rate can bear little re-
lation to relative prices in different countries. So prices

Pagq 12
in some countries, like Switzerlang or West g

can be much higher at officjal exchange Fate. My
France or Italy, Therefore if nationg] incor, ®S thay in'
are to be used to compare living Standay d:b s,
countries it is important to use an exchange » Clue,
compares the cost of living in each count € Whigy
change rates are known as purchasin ' es? &%
If, for instance, a typical basket of goods COstz F]’antieg,
in France and £ 7 in the UK, thep nationg) 10 By,
should be converted at an exchange rate of | 0;3 o
the £ 7 even if the market excha uro

Nge rate gjye
different figure. Sives g very

Even this is not accurate enough. In some
consumers have to purchase goods Which i
free. Sweden, for instance, spends a greater Propor
of its national income than Italy on fye] for heatimn
because of its colder climate. But thg extra expenditun
does not give the Swedes a higher standard of livinre
Again, countries are different geographically anq o,
country might have higher transport costs per unit of
output than another because of congestion or hayj,
to transport goods long distances. In Practice, it is .
most impossible to adjust natjonal income figures fy;
these sorts of differences.

COUHtries)
Others are

+ It is believed that the numbers cannot capture our trye

overall well-being as a nation in comparison with other
countries. Economists point out that many qualitative
changes could make a country better off than other
countries without necessarily achieving higher RGDP
per head, such as reduction of crime and violence,
greater equality of opportunity, improved racial har
mony, and reduction of drug and alcohol abuse. Simi-
larly, rising RGDP per head is usually accompanied by
rising external cost, such as pollution, noise and acci-
dents. These are not officially measured within nationi}l
income but they do affect welfare and distort compari-
son of well-being between nations.

Understanding the fact that the data on real GDP per
head is of limited value for comparing living standard
between countries economists have developed many
alternative measures. Measure of economic we|far:
(MEW), for instance, was developed to overc;f;{o
these problems. This starts with real GNP and_NN -
this we added an allowance for leisure, for varloui “an

marketed goods and services such‘ as houser(:lfS b
underground activities, for the services Ofvafrlo rivate
lic amenities such as parks and road.'_s, an:il & (p)n the
durable goods such as furniture and Jewehe?;'i nolude
other hand, various items are subtractedt: Tc:, and com
regrettables’ such as expenditure Of' de ;n,ls pollution.
muting to work, and various ‘bads’ suc h; penefits ©
Also various intermediate items such ast

education are subtracted.
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, using MEW is in obtaining reli-
dditional items it includes, As
dopted by governmental sta-

pLeY
vitl
N emY
e
able ™", | as not beet
sult it has around the world.

arv cics . vt 4
pstical agen ||-known measure of quality of life is The
post WO Index (HDI) that has been devel-

Jlapment )
Haman cveloﬁ?e United Nations Development
g DI is the average of three indicators:

S ndard of living, as measured by real GNP per
ta

cgpila (PPP$)

Life expectancy at birth, in years

ducational attainment, as measured by a weighted
« E dult literacy (two-thirds weight) and

average of 2 . .
enrolment ratio (one-third weight)

HDI value to 1, the nearer is the country
(o achieving the maximum values deﬁn'ed for ez.lch of
(he three indicators. The advantztge of using I:lDl is that
it highlights the fact that people s welfarfa is influenced
aot only by the goods and services avallabl? but also
by their ability to lead a long a.nd healthy llfe z-md- to
acquire knowledge, a combination pf .both qt.lalltﬂtlvc
and quantitative factors. Clearly, this de.:x gives us a
better way of estimating standards of living than just
(he real GDP per head. Though it is considered to be a
superior measure to others yet it is still far from being
perfect.

Economists have recently been looking at ways to in-
clude other factors in the measurement, such as income
distribution, gender inequalities, and inequalities by
region or by ethnic group. As a result they have devel-
oped The Human Poverty Index (HPI) that focuses on
four basic dimensions of human life — longevity, knowl-
edge, economic provisioning and social inclusion.

The closer the

Thus it follows that a government can adopt various
measures in order to determine how an economy is
compared to other economies. Each of those measures,
however, has its own inherent weaknesses as none can
actually produce a perfectly accurate cross- country
comparison of economic well being. For a cross coun-
tf)l‘elompariscm of economic well being the popular
Opinion, however, is more in favour of HDI.

Question 9

Imag;

ab:ugtl?lf you 'have been asked to produce a report

ol be guahty of life in your country. Discuss what
€ Important to include in your report and what

eCOngmic '
conclUsio,:ndlmtor $ You would use in order to reach a
' [25]

—~—— [J16/P4/06]

Essay

Quality of life generally refers to the material welfare of

 the inhabitants of a country. The baseline measure of

the standard of living is real GDP. This is the monetary
value of total output produced from all the resources
located within the political borders of a country over
one year time period minus the rate of inflation.

It is widely held that there should be a strong positive
correlation between real GDP and economic well being;
that is, greater production should move society to-
ward" the good life" and vice versa. Thus economists
view levels and rates of growth of "real GDP, as a use-
ful indicator of quality of life.

It can, however, be argued that higher GDP does not
necessarily imply that the citizens of the country enjoy
a better quality of life. This is because it ignores the
size of its population. GDP per head, therefore, can be
more useful than that of GDP figure alone. Real GDP
per head is calculated by dividing real GDP on the
population of the country. It is a measure of how much
of real goods and services is available to the average
citizen for consumption and investment. Economists,
therefore, view levels and rates of growth of "real" per
capita GDP, as a better indicator of quality of life.

It is, however, widely held that even RGDP per head is
of limited value for indicating quality of life for a num-
ber reasons. Firstly, RGDP figures can obscure inequali-
ties in the distribution of income and wealth. Wages
and earnings may be unequally distributed among the
population and rising national prosperity can co-exist
with rising relative poverty. In addition to this national
income accounts may have a significant degree of in-
accuracy, caused, for instance, by a significant size of
the informal ecoromy in the country. The informal or
nonmonetized economy includes economic activity that
goes unrecorded. The non-monetised sectors of the
economy include output that is not sold at market
prices but involves barter trade, and self-consumed
products. Economist's latest estimates for the total
value of the black economy throughout the world are
$9 trillion. The scale of the underground economy is
estimated to average 15% of national output tcr rich
economies and over 33% of national output for emerg-
ing economies. Moreover, higher GDP per capita might
have been achieved at the expense of leisure time if
workers are working longer hours. This has an inev-
table impact on the quality of family life.

Furthermore, it is believed that the numbers cannot
capture true overall well-being of a nation. Economists
point out that many qualitative changes could improve
quality of life in a country without necessarily achiev-
ing higher RGDP per head, such as reduction of crime
and violence, greater equality of opportunity, improved
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racial harmony, and reduction of drug arid dlcoliol
abuse, Similarly, rising RGDP per head is usually Hee

companied by rising external cost, such as pollution, ’

noise and aceidents. These are not officially measured
withih hational income but they do affect welfare and
distort the real well-being of a nation.

Measure of economic welfare (MEW) is one of the al-
ternative measures developed to overcome these prob-
lems. This starts with GNP and NNP. To this was added
an allowance for leisure, for various non-marketed
goods and services such as housework and undet-
ground activities, for the services of various public
amenitics such as parks and roads, and for private du-
rable goods such as furniture and jewelry. On the other
hand, various items were subtracted. These included
tegrettables' such as expenditure on defence and com-
muting to work, and various 'bads' such as poliution.
Also various intermediate items such as the benefits of
education were subtracted. The big problem with
using MEW is in obtaining reliable estimates of all the
additional items it includes. As a result it has not been
adopted by governmental statistical agencies around
the world.

The most well-known measure of quality of life is The
Human Development Index (HDI) that has been devel-
oped under the United Nations Development
Programme. The Human Development Index (HDI) is
the average of three indicators

*  Standard of living, as measured by real GNP per
capita (PPP$)

e Life expectancy at birth, in years

¢ Educational attainment, as measured by a weighted
“average of adult literacy (two-thirds weight) and
enrolment ratio (one-third weight)

The closer the HDI is to 1, the closer the country is to
achieving the maximum values defined for each of the
three indicators.

The advantage of using HDI is that it highlights the

fact that people's welfare is influenced not only by the
goods and services available but also by their ability
to lead a long and healthy life and to acquire knowl-
edge, a combination of both qualitative and quantita-
tive factors. Clearly, this index gives us a better way of
estimating quality of life. However, it is still far from
perfect.

Economists have recently been looking at ways to in-
clude other factors in the measurement, such as income
distribution, gender inequalities, and inequalities by
region or by ethnic group. As a result they have devel-

oped Multidimensional poverty index (MPY), 7, -
ssesses poverty at the individual level, (f g, € Mpy
dci}.’ft’{’d in a third or more of ten (weighted m

ritd T orald ! ind'
the global index i(;cg!:.ﬂ?s them!ﬂs MPI po alorg

; or' ]
extent — or intensity — of their pgvanty s n:]:::l the
by the number of deprivations they 3rétexbé}; ,t;::‘
The MPI has three dimensions: health, dycai enciy
standard of living. These are measured using :)hne’ ?n]

ol

lowing 10 indicators.

he is

Education

1. Years of Schooling: deprived if no householq
member has completed five years of sthoolin

2. Child Enrolment: deprived if any schogl.,
is not attending school in years 1 to § 3.

Health

3. ' Child Mortality: deprived if any chiid hag died jf
the family In

4. Nutrition: deprived if any adult or child fu Who

 there is nutritional information is malnourigheg
Standard of Living

5. Electricity: deprived if the household has n.o
electricity

ged chilg

6. Drinking water: deprived if the household does
not have access to clean drinking water or clean
water is more than 30 minutes walk from home

7. Sanitation: deprived if they do not have an
improved toilet or if their toilet is shared

8. Flooring: deprived if the household has dirt, sand
or dung floor

9. Cooking Fuel: deprived if they cook with wood,
charcoal or dung

10. Assets: deprived if the household does not own
more than one of: radio, TV, telephone, bike, or mo-
torbike, and do not own a car or tractor

While both HDI and MPI use the 3 broad dimensions
health, education and standard of living, HDI uses oqu
single indicators for each dimension of poverty while
MPI uses more than one indicator for each one. There-
fore HDI has been criticized for ignoring other devel-
opment parameters. In comparison to HDI the MPI cre-
ates a more vivid picture of people living in pOVean
within a country. It is the first international mea_sure 0
its kind, and offers an essential complement to‘ lncf)mn:
poverty measures because it measures deprivatio

directly.

The above discussion leads us to t
MPI is by far the most comprehenst
cating quality of life in a country.

he conclusion thaf,

ve measure Of indi-

I
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iapal estimates of national income indi-
o prape iricome per head between 2009
. US $98 780 in Norway atd US $36
land. Consider whether this means
d of living in Notway s nearly

Wy}ﬁb
goven

that
wlcgo‘]j was
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ndar
hatet:il;:;a; ¢ high as In New Zealand. [12]
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of living i & 1 5f the matefidl
s stiridard of living 15 a friedsure o
Thef‘gare of the inhabltants of a country. The

| : ' i, i
I;Vaesellﬂe wieastire of the stafidard of living is real

vational Incorie (NY) per head.‘lt is calculated by
dlviding real NY ofi the population of the countty.
Real NY pet head i§ & measitre of how mtich of real
goods and serviees is available to the average citl-
7en for consuriiption anid iftvesttnent. It is believed
that thete should bé a strotig positlve correlation
betweeti NY per capiti and ecotiomic well being:
that s, preater ptoductioti should miove society
towatd" the good life’ Theteforé économists view
levels dfd rates of growth of "redl” per capita NY
exptesséd in comttion currency, as 4 valid indicator
of compating e€ohiomic well beifig internationally,
So NY per capita cdh be used to makeé cross-coun-
try comparisons. But this tequires converting NY
data Into a common curtericy (normally the dollar
o the Euro) which has been given. But we also
heed to make an ddjusiment to reflect differences
In the average cost of goods and services iri each
'country in order to produce data expressed at &
purchasing power parity' standard, It therefore
needs information on cost of living in both coun-
tries which has not been provided.

Apart from this it must be remembéred that NY per
h,ead on i.ts own is both an inaccurate and insuffi-
:}::ﬂt ;‘ndlcat.or of true living standards. Therefore
itedlr:,olrmatxon provide_d in the question is of lim-
highera]\}l\er for comparing living standard, Thus
iy imo] ]p:er head in Norway does not necessar-
I erP“Y _t at the citizens of the country enjoy
Zealang ving standard than the citizens of New

S0t i wi
V;;z';o‘rvl{ﬁfly held that NY per head is of limited
ard for nuer.b country comparison of living stan-
buti(}q‘]s b mber of reasons, Firstly, income distri-
€tween the two countries may be differ-
fll income accounts will have vary-
Inaccuracy, caused, for instance, by
of the informal economy in each
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country. The informal or black economy Includes
ecottotnic activity that goes unrecorded. The non-
monetised sectors of the economy include output
that is not sold at market prices but involves barter
ttade, and self-consumed products. Economist's
latest estimates for the total value of the black
economy throughout the world are $9 trillion. The
scale of the underground economy is estimated to
average 15% of national output for rich economies
and 33% of national output for emerging economiies.

Moreover national income accounting conven-
tions may also be different in the two countries
taking it impossible to compare the two. There is
also the problem of what rate of exchange to use
when comparing onie country's GDP with another.
The day to day market exchange rate can bear little
telation to relative prices In different countries, So
prices in some countries, like Switzerland or West
Germany, can be much higher at official exchange
rates than in France or Italy. Therefore if national
income statistics are to be used to compare living
standdrds between countries it is important to use
an exchange rate which compares the cost of liv-
ing in each country.

Even this is not accurate enough. In some coun-
tries, consumers have to purchase goods which in
others are free. For instance, Sweden spends a
greater proportion of its national income than Italy
on fuel for heating because of its colder climate.
But this extra expenditure does not give the
Swedes a higher standard of living. Again, coun-
tries are different geographically and one country
might have higher transport costs per unit of out-
put than another because of congestion or having
to transport goods long distances. In practice, it is
almost impossible to adjust national income figures
for these sorts of differences. ’

It is believed that the numbers cannot capture our
true overall well-being as a nation in comparison
with other countries. Economists point out that
many qualitative changes could make a country
better off than other countries without necessarily
achieving higher NY per head, such as reduction
of crime and violence, greater equality of opportu-
nity, improved racial harmony, and reduction of
drug and alcohol abuse. Similarly, rising NY per
head is usually accompanied by rising external
cost, such as pollution, noise and accidents. These
are not officially measured within national income
but they do affect welfare and distort comparison
of well-being between nations.

Thus it follows that NY per head is central to any
measure of comparing quality of life betw?en na-
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tions but on its own it proves to be insufTicient, A
fair comparison of living standard must include the

data on other important quantitative and qualita-
tive factors.

Question 11

Robots are increasingly used in various areas of
production,

Discuss whether GDP is always a good measure of
living standards. [13]

[N18/P4/Q5(b)]

Essay

The standard of living is a measure of the material
welfare of the inhabitants of a country. The
baseline measure of the standard of living is real
GDP. This is the monetary value of total output
produced from all the resources located within the
political borders of a country over one year tim

period minus the rate of inflation. '

It is widely held that there should be a strong posi-
tive correlation between real GDP and ~ economic
well being; that is, greater production should move
society toward" the good life" and vice versa.
Therefore economists view levels and rates of
growth of "real GDP, as a useful indicator of com-
paring economic well being of a country over time.

However it must be remembered that GDP on its
own is both an inaccurate and insufficient indica-
tor of true living standards. The higher real GDP,
for instance, does not necessarily indicate a higher
living standard particularly if the size of country's
population is quite large. For example, India's GDP
needed to be divided by a population of approxi-
mately 1.2 billion to arrive at a GDP per head
whereas the GDP of Mauritius only needed to'be
divided by a population of approximately 1.2 mil-
lion. The result in terms of GDP per head can be
different from that of GDP figure alone, -

Real GDP per head is calculated by dividing GDP
on the population of the country. It is a measure of
how much of real goods and services is available
to the average citizen for consumption and invest-
ment. It is believed that there should be a strong
positive correlation between RGDP per capita and
economic well being; that is, greater production
should move society toward" the good life" There-
fore economists view levels and rates of growth of
"real™ per capita GDP, expressed in common cur-

rency, as a better indicator of dete
well being than real GDP figyre,

However it is widely held that RGDp
also of limited value for determipj, I' ey
dard, Firstly, income distributiOnsgb Ving ¢, !
countries may be different alsq natioetwe.en the
accounts will have varying degree Ofr]al o
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national output for emerging €conomies, Nati/l‘ of
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There is also the problem of what rate of exchan
to use when comparing one country's GDp with ane
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~other. The day to day market exchange rqte can

bear little relation to relative prices in different
countries..So prices in some countries, like Switzer.
=land or West Germany, can be much higher at off;.
cial exchange rates than in France or Italy. There.
fore if national income statistics are to be used t

‘compare living standards between countries it js

important to use an exchange rate which compares
the cost of living in each country. These exchange
rates are known as purchasing power parities. For
instance, if a typical basket of goods costs €2 in
France and £1 in the UK, then national income
should be converted at an exchange rate of €2 to
the £1 — even if the market exchange rate givesa
very different figure. -

Even this is not accurate enough. In some cout
tries, consumers have to purchase goods whichin
others are free. For instance, Sweden spends 8
greater proportion of its national income than Italy
on fuel for heating because of its colder c.hmalff-
But this extra expenditure does not 8V th?
Swedes a higher standard of living. Again, COU{“
tries are different geographically and one Co;lgg
might have higher transport costs per unit Eavin"
put than another because of congestion Of i i:
to transport goods long distances. In pfﬂc“cﬁ;{u e
almost impossible to adjust national income

for these sorts of differences.
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pp per head, such as reduction of crimg and
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olence, greater cquality of opportunity, improved i -
violence»

.| harmony, and reduction of drug an
racia similarly, rising RGDP per head s usually
abuse. anied by rising external cost, such s pol-
acc'ompnoisc and accidents. These are_not
h;:;l)y“;ﬂeasured within national income byt th
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being
between nations. _ - :
Measure of economic welfare (MEW) is one of the
alternative measures de\_feloped to overcome these
problems. This starts with GNP and NNP. To this
was added an allowance for leisure, for varioyg
non-marketed goods and services such as house-
work and underground-activities, for the services
of various public amenities. such a5 parks and
roads, and for private durable,goods such g fur-
niture and jewellery. _ :
On the other hand, various items we
These included regrettables' such a
on defence and commuting to wor
'bads' such as pollution. Also vario

items such as the benefits of e.duc
tracted.

re subtracted,
$ expenditure
kK, and varioys
us intermediate
ation were  sub-

The big problem with using MEW is in obtaining

reliable estimates of al] the
cludes. As a result it has
governmental
world.

additional itemg it in-

not been adopted by
statistical agencies around the

The most well-known measure of quality of life jg
The Human Development Index (HDI) that has

been developed under the United Nations Devel-
opment Programme,

The Human DeVelopment Index (HDI) is the av-
erage of three indicators

per capita (PPPS) -+ .

Life expectancy at birth, in years s

Educational attainment, as measured by a
- Weighted average of adult literacy (two-thirds

weight) and enrolment ratio (one-third wei ght)

The closer the HDJ j
is to achieving, the
€ach of the three in
The adyanty
the fact that
by the goq
theijr abilj
aCquire k
tive and

s to 1, the closer the country
dicators. -

ge of using HDI is that'it Highlights
people's welfare is influenced not only
ds and services available but also by
1y to lead a long and healthy life and to

nowledge, a combination of both qu'alita-
Quantitative factors. Clearly, this index

& country . .
ff without necessarily achieving higher * -

offi- .,

Standard of living, as measured by real GNP

maximum values defined for 4

measure of living st

ment other qualitat
head.
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